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QUESTION 1

The following description is correct (). (multiple choice) 

A. The next hop in the routing table is redundant. If there is an outgoing interface, the packet can be forwarded. 

B. Routes obtained through different routing protocols have different priorities 

C. The metrics defined by different routing protocols are comparable. 

D. The metrics defined by different routing protocols are not comparable. 

Correct Answer: BD 

 

QUESTION 2

SNMP packets are transmitted by UDP. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 3

A trunk port can allow multiple VLANs to pass, including VLAN4096. 

A. Correct 

B. Error 

Correct Answer: B 

 

QUESTION 4

Which of the following statements describes the network shown? (Choose two) 

A. There are 6 collision domains in the network. 

B. There are 2 broadcast domains in the network. 

C. There are 4 collision domains in the network. 

D. There are 6 broadcast domains in the network. 

Correct Answer: BC 
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QUESTION 5

Refer to the graphic. 

The host has a problem establishing a telnet connection with the router attached to interface G0/0/0. Which of the
following steps can be used to help the administrator identify the problem? (Choose two) 

A. Check whether the host has configured the gateway IP address. 

B. Check whether the switch has configured the gateway IP address. 

C. Use the ping tool to check connectivity between host and router. 

D. Check the telnet server configuration is right on the router. 

Correct Answer: CD 
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